ATy Sop — AL Rl I I\ LULE 'H%E%J 2013/4/13 %%JE *E Eﬂﬂﬁ%ﬂ- HJEEH{Q\Z
s | B ABIRLRUHIN m  BAR TR BRIEOR S G, A A LT BT
FHEFAERS [T E S PR R Fae 4 HUER Rt
B+ &EE 142 24 RIA afr 5{ 63 e 8fir
HE #F 10.61 (-2.2)|{c#E Eth 1112 22| R8N EE 1136 (-22)(BH* % 11.37 (-2.4) AR R 1141 (-22)(luE &2 1147 (-20)|Hf FE 1159 (-2.4)
&E Z 3 [igsd) EEp &R REEFAE £33
AIsH 100m B RA 11.37 (-2.2)
Z il
af130 | 200m mE HEM 22.79 (-2.8)|RHE FF 2312 (-28)| T =F 2339 (-3.5)| M EABE 2342 (-35)|FE EX 23.48 (-2.8)|HT)Il HLEE 2361 (-2.8)| bt £ 2364 (-35)|##+t WK 23.65(-2.8)
&L B &E il [F R4t E RS54 E R Et kS
=% & 50.33| B4 Eih 50.62| =R 1£E 50.73|¥r# EX 51.48|HA X& 51.53[ILTF JR% 51.73| LE & 51.79
af13A | 400m & EAKTER HeLl TEE &t BEAKER & )
T8 & 51.79
EAKTER
4H13H 00m et 1:58.47(1&E £ A 1:59.42| EAR HEX 1:59.74| &/ B 2:00.23|454 1REE 2:0057[310 K 2:00.86(UB 15 R 2:01.03|F% EE3 2:01.14
HeLl [y HeLl R &R ks kLl ELY
ag130 | 1500m AW B 4:0444|EX £ 4.08.68(4EFT Fi% 409.97| Ak 4:10.67|BEH K 41071|R8 #BX 41093 FH Hth 4112|580 Foth 4:13.64
RES K Z 3 12 53 RES K Jeus i 1 RERS KT
ag130 | 5000m BR B/FE 14:536| 8% BEFE 15:00.9|#E% &N 1501.1|B%k EE 15:03.6|Ath E 15:06.1| K18 & 15:13.7|dtH BX 15:20.2| F# R 15:28.2
# RERS KT WLl il &E & ERS KT SLanfE
af13a | 11omn g K# 1515 (-1.0)[E& & 15.76 (-1.0)|% % 1&F 15.77 (-1.0)|&  Fo4 15.81 (-1.0)| &8+ F= 16.16 (-1.0)| 5% H& 16.25 (-1.4)|#E H&E 1643 (-1.4)|FE0O Th#h 1655 (-1.4)
Z il ERE 5P REREFAE R4t RIE Je g il
X E 55.66|/MAR B A 56.20| G #a4 56.85/53k E_AA 57.48|EAR K} 5757|F ik 59.40 [T 59.74
af138 | 400mn Z &AL i) il 5P [k E3E
BH Kth 59.40
[igsd]
48138 | 3000msc AR BEA 9:28.09|5H {5 9:38.37| K% # 9:4020|=/& =B 9:48.16| L &)1l FEk 9:48.24|3% M HE 9:48.63|LLO F1HE 9:55.84|[F HH 10:07.26
PE" L £ AfEL & AR E # ERS KT il
48138 | 5000mw W F# 20:43.7 BB #ath 23:104|KE [E 2358.1|FH Eth 25:00.3(BER E— 25:139[5H BIE 25:500|% —#a 26:47.6|FIR MFE 27:35.5
NI NKR-NGR |#kLLI &t [y &) BEAKER AfEL [y
A3 131 A1 00mRk MR- R BBIARS KT DF=sh . BRYOSIHYEL 1
413 H |4x400mR
FH #hE] 1.93|=K F=RA 1.90|AH HfE 1.90| AR ##% 1.85|ME EB 1.80|BERER K5 1.75 T & 1.75
_ IS R E [y B 1S R REEFAE
47130 | AEmk wE A i
BEAKER
e BB 4.30[7kfn HA 430|F#HE = 400|HH & 340(HH #iE 3.40|H1)I 3B 340|FmH B 3.20
w1sn | HeE Jeus i Je g Je i ST EE fickag BEAKER Eﬁf
JIEE fEXK 3.20
[y
sn1sn | ik Wi BB wi2d 2 D)[AK —R w6.78 (+2.3)[#aK fEth w6.62 (+2.3)|FHEF = w6.42 (+2.1)|FfHE fEE w641 (+2.4)| KB B w6.40 (+2.4)|NHE £ 6.35 (+1.D[RA & 6.32 (+1.5)
&E il &E =310} &t [igsd) R E kLl
wasn | =m £# T 1506 (-08) [{EA #X 13.94 (0.ND|FA EBZEB1 1384 (+1.6)|ME B3} 13.81 (+1.6)[FK1L K40 w1359 (+2.2)|$ £ #dt 13.46 (-0.6)|fED F0# w13.36 (+3.5)|ILE RIfF 13.27 (-2.1)
bdi] NGR|[:&F 1L kS AR AR E [y [y
afsn | ro g R 13.08[;RET FX 12.39|EM 1&4h 1228|118 B2 11.67(FFE SR 11650 B&R 11.59(7TH #BE 11.26|HER % 10.49
IS B i3] Je i i3] BEAKER Je i el
aA1sn | ma al % 4532 | HE 40.12|/hF X 3366(F 1L Ht 32.10|&# EHA 32.00[#24 IFE 30.16(#54 EHA 2972|& A fFXK 29.68
(5] NGR|FER Je i B [y &t i3] ULl
A 130 | g A KX 53.75[&K # 51.30|#1iT S 47.99| 7T Heth 46.44()11R% SR3A 4454|EP HiEHh 271|R8 M23| AR 34.86
Z 3l TEE TEE Z 3 TEE b5 B TS
a1 | oo EH it 63.29|ILT &HF 57.27|K A & 5577|130 = 53.08|#/R F— 51.84|% K Kig 5054|F #E 49.24|78)11 48.93
Je i MILT¥ R TREH REEFLE EtE R KK

w (wind assist) : IBJAZ%&
NKR @ 5B s AR LR




e e . e e ol ot A FEREEA 2013/4/13 FHERE @ HF - L RAa
s | SABII U i S o BOR R RIEOR R WA, SR B AT L AT KB
FRFIRSY | F PR AT R Fa2 b 4 LB
Aft | &R 1Az PAA 3fz YA 5L 6L ThE 8L
4H 138 100m (LS =T (2 1251 (-0.6)| =& LV6Z 1261 (-0.6)|5Eik ¥ 12.76 (-0.6)|;¥F B 12.83 (-0.6) | A% #EiE 12.87 (-0.6) |3k FB 12.88 (-0.6)|#RE 3 13.03 (-0.6) (8K ZHit 13.17 (-1.9)
AR RENE Z &l TRENE A IS PR g
4f138 | 200m Bl E 26.67 (-2.0)[BE)Il HZE 2697 (H1.7)|%H = 27.15 (-2.0)[dti# T 27.23 (-0.2)|%H #F 2739 (1. |E@E AR 2742 (-2.0)|#% F 2742 (-20)|HA *F 27.60 (-1.7)
IS AR KK (ipsd] RE Je i AR RERE
4f138 | 400m F0O BEm 59.00|#H 1E& 59.06|Ik % #5E 1:00.11|IlLO %5 1:00.13|E A HHE 1:0047|FHFA Eiit 1:00.83[HFE ¥F 1:00.93[/ML 578 1:01.37
Z 3 i &AL BEAKER W i B I g SLEEETF A
48138 | soom Bk EfH 2:1509| E#t ZEHE 2:15.25|#H BE 2214488 #HE 2:23.12)/NFE EHEF 2:2340|1LA HHK 2:2515(/NR EaR 2:25.69(/M s F&F 2:25.95
1&m AR KT g SR SEETF A LES 2] =3
45138 | 1500m [GEiC 43471 | Rk EEF 4:36.79|F )1l YDZ 44082|EH W|ME 44143\ G A% 4:4169|E58 A 441.74| A EF 4:46.27|FEiE ZOM 4:51.92
Z3 SR 53 SR =3 SR RERE RERFELL
48138 | 3000m FH bkE 9:34.2|F8 #IZE 9:38.7|#BR T 9:470|F1@ BEFE 9:54.6|%H ¥ 10:05.7|3R & FEiA 10:07.8(#2A& A 10:18.8|pT&R 3B 10:23.2
SLEEETF A SR SR Zil RERE 53 RERE =3
AVTEIL B 1440 (-25)|hF BE 14.90 (-2.5)[£% %% 15.60 (-2.5)|B8 RfZF 1632 +0.3)|#F BAE 16.39 (+0.3) ¥ BE 16.81 (-2.5) ()% =B 16.86 (+0.3)
ssa | 10omn [REXH UL bl L LE. RBRH e 23l &
fEA H7E 16.39 (-0.4)
Z3
45138 | 400mm HK 48 1:03.24| %M Fia 1:03.32|FlL BF 1:06.61[3 HBFEF 1:07.24(#EH+ KM 1:07.36[#2E S 1:08.09|EA M 1:08.19|# FEF 1:09.75
e RE g IS (i [izA5; (i AR Z3
48138 | 5000mw ARk B8 23:294|ILTF XfE 24:340|5FiE & 25144\ 1LA 1$743 25:59.9|h#t &< 26:149| L% ®<F 26:403|2H EXK 27.11.9|EER £ 27:35.9
IIWEETFA NGR|# (i &I g Zi ¥E)I RERE
A SR AI00mR (& B BB ZE DI th YOI EL
4113 H |4x400mR
RE RER 1.63| X1 F& 1.63|#tE BAES 160|H# £ Fi& 1.55 WHE #E 1.55|fFk A& 155
k3 8 ks ZI e i R
. B XM 1.55
4713H £k -
T
&L
a13e | i ik R 560 (+1.0)[AO {E&H w5.48 (+2.1)|FHF ETH w5.12 (+2.6)[BRiE 1A% 499 (-0.2)|Eh FA 499 (+0.6)|TH ALY 492 (+02)|#K TRE wase 2N |HAE Fin 4.86 (+0.2)
RE AR IS o] =311} i PR IS
ase | mang ¥H EBF 11.T7)/MI H3E 10.98|FMA #A 10.54|8 FiE 1049|EH BHR 1047|4H #* 10.31|7% BF 10.08|Bi5 &HiE 9.78
[izA5] Z 3l (i LR RENEFEE 235 i EE
ase | mae r% BEX 4017|315 IniEAD 39.31|%E EfR 3542|780 £ 3538|418 BEXE 3427 WE 33.94(& —F 32.34(#BHE XA 30.27
PR Z 3 Gipsd] [EE: Z 3 (i =53 [y
sA13E | o0 FTH #K 4092(teE €= 39.82| KA ETE 37160 RES 36.76[FEAR EE 36.60 (275 X£fE 35.81|(JIIEE MR 3534|F A HE 34.15
1&m 235 b i TEE g Zl EE 1&m
ai1sn | s s A5 300|&8 RE 2.80|[E % HR A 260|#&E HF 240 (% # 240|8% Ei 220(8H #H&E 2.20
[y &5 Je i i Fl: E A E R b
”;; atsn | e |BP (e 11.30 +0.2)| K+ BAF 1124 HD|HX T 1090 (+1.8)[3k HEF 10.79 (+0.9)[BLiF FAZE 1054 (+1.2)| & = 1033 (+1.9)[#&R XF 1030 (+1.2) K E& 9.46 (+1.0)
It [y (i IS (i R IS IS [ihy
wH13E | et A0 XX 49.07|%15 hniE#d 46.45|/MIl H3%E 37.09| 4% EXx 3229|& XiE 2041|348 EXE 26.44
B &R Z &l Z &l s PR Zl

w (wind assist) : IBJAS%




